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by # 73,197 172,517 81, 306 91, 211 -72 -47 -25
H A B 20, 061 46, 807 21, 364 25, 443 -5 -25 20
+ = 544 1,334 637 697 -1 0 -1
FBAF—TH 224 582 269 313 -1 1 -2
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4SBERTH 232 610 274 336 -3 -2 -1
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INETZTH 480 1, 201 526 675 1 -1 2
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KET—TH 553 1,242 563 679 0 0 0
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FEOR O = 14, 085 33, 673 16, 039 17, 634 -13 -7 -6
#E—TH 351 836 407 429 4 0 4
w’E_-TH 815 2,048 978 1,070 7 0 7
#E=TH 552 1,353 620 733 -10 -4 -6
R#EOTH 326 736 331 405 0 -1 1
#ERTH 381 773 364 409 -3 -1 -2
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5Z-TH 769 1,367 699 668 -1 1 -2
£=TH 676 1,534 721 813 -4 1 -5
EMTH 710 1,628 797 831 2 -3 5
EETH 1,116 2, 781 1, 367 1,414 4 0 4
a 873 2,038 951 1,087 12 0 12
INEA—TH 574 1,032 537 495 -1 -1 0
INERZTH 922 1,983 994 989 1 0 1
I BB 40 108 54 54 0 0 0
RKw—TH 298 518 244 274 -5 -2 -3
KHW=—TH 912 1,567 763 804 4 -1 5
KMW=TH 544 1,108 518 590 14 3 11
KM@ TH 730 1,585 763 822 -6 -2 -4
KMETH 784 1,727 826 901 -2 0 -2
RKMWATH 535 1,103 533 570 0 2 -2
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